OHE&H: 202111 A3HKEH OHRE %L H45E"—4 8

OFR&RAEFZI 11:00 O=15: FHMEELHRS
OHR&E#&RTHZI 12:55 OXiE BN
F—L% (8B8)| 1Q 2Q 3Q 4Q TOTAL B &
AMIEKRZFEW) 7 6 20 7 40 255 08K
RIBE I KZE (M) 0 0 0 3 3 0% 28K
FRZ6
F—L Q B [ PLAY PLAYER(S) Y¥—F TFP PLAYER(S) G/NG
w 1 3:13 | PASS | #9 FH—-#81 HH 2 24 K | #55 fB#% G
w 2 1:19 | PASS | #9 FE—-#81 FE 23 K | #19 Bk & NG
W 3 4:00 RUN | #29 BEH 6 K |#29 #MH G
w 3 4:30 |PASS |#9FFE—#5HO 25 P |#9 FR NG
w 3 7:24 | PASS | #9 F R —#89 5k H 35 K | #29 B @ G
W 4 1:54 | RUN | #29 #H 17 K | #29 M G
M 4 6:59 FG | #66 & 18 26
F— L % w M
1.97—ARE DY | (5> — /82— RAl) 11(5—6—0) 10(7—2—1)
WAV A -2 —tTH 14-9-0 14-2-2
gEv—r | 13gvds | 28vds
35 E#H—ER/FVY—F 20-88Yds 35—122Yds
4RE E#H—-ERFIVY—F 34—227Yds 49—150Yds
5.5 8l B % — §RVv—F 7—55Yds 4—12Yds
6.77>7 L B —®% 1—0 1—1
7.74—ILRT—)L Bl — R Zh 0—0 2—1

M FETA) 7y R—)L 2 8




SN T RF

PASS

= EAn) I BXZh ¥—F | TD [ INT

9 | ¥R WIm 14 9 139 4 0
RUSH INTERCEPTION

HS 2 m# | v—F D H5 2 [E1%
5 |\o sxkes 1 4 0 12 |EE HE 1
9 | FR #®BZH 3 23 0 69 | R &K 1
19 | kE & 6 26 0

25 |BEHR EBR 3 0 0

29 | AR BYF 6 32 2

34 | /NBF =k 1 3 0
RECEIVE QB SACK

#HS |&HE | | v—F D #HS |45 EIE2'
5 |HA =KeA 3 44 1

34 | /NBF =k 1 8 0

81 |E KM 3 55 2

89 [sxH s 2 32 1

RIGEIT pN=a

PASS

#HS |&HE EiEd B | ¥—F | TD | INT

15 | T 8 1 14 0 2

17 | BF EXER 6 1 14 0 0
RUSH INTERCEPTION

#HS |&H | | v—F D #HS |45 EIE2'
8 BH A 9 19 0

15 |FE 5T 8 31 0

17 | B JZRER 1 7 0

22 | Elmy  ERR 11 59 0

25 |=F &= 6 6 0
RECEIVE QB SACK
#HS |&H E# | v—F D = |&H EIE2'
8 | B% 1A 1 14

83 |/NR &N 1 14




